Math 5680 3/1/23

Theorem (Taylor's Theorem) Let f be analytic on an open set $A \subseteq \mathbb{C}$. 1Å Br_ Let Z. EA. Let $B_{r} = \{ Z | | Z - Z_{0} | < r \}$ $= D(Z_{0jr}) \leftarrow$ Suppose $B_r \leq A$. Then the series $\sum_{n=0}^{\infty} f^{(n)}(z_0) (z - z_0)^n \int_{\text{of } z_0}^{\text{fuglo}} \frac{f^{(n)}(z_0)}{n!} (z - z_0)^n \int_{\text{of } z_0}^{\text{fuglo}} \frac{f^{(n)}(z_0)}{n!} dz$ to f(z) for all ZEBr Converges

Proof; We first prove the theorem when $Z_0 = 0$. Let $B_r = \{z \mid |z| < r\} \leq A$ Let ZEBr. Let Co denote (r Some circle of Zo=0 some circle of radius ro, centered <// at Zo=0, oriented (Bri Counter-clockwise that is contained inside the disc Br but is large enough so that Z is interior to Co. Since f is analytic inside and on Co and Z is interior to Co have $\int \int f(S) dS$ $f(Z) = 2\pi \lambda \int_{C_0}^{C_0} f(S) dS$ we have [Cauchy integral eorem

Recall that when
$$w \neq 1$$
 then
N-1
 $\sum_{n=0}^{N-1} w^n = [+w+w^2+\dots+w^{N-1}] = \frac{1-w^N}{1-w}$
Thus, if $w \neq 1$, then
 $\frac{1}{1-w} = \sum_{n=0}^{N-1} w^n + \frac{w^N}{1-w}$
for $N \neq 1$.
Hence,
 $\frac{1}{g-z} = (\frac{1}{g})(\frac{1}{1-(\frac{2}{g})})$
 $= (\frac{1}{g})((\frac{N-1}{1-g}) + \frac{(\frac{2}{g})^N}{1-\frac{2}{g}})$
 $= (\frac{N-1}{g}(\frac{1}{gnt1})z^n) + \frac{N}{(g-2)g^N}$

Thus,

$$f(z) = \frac{1}{2\pi i} \int_{C_0}^{\infty} \frac{f(g)}{g - z} dg$$

$$= \frac{1}{2\pi i} \sum_{n=0}^{N-1} \left(\int_{C_0}^{\infty} \frac{f(g)}{g^{n+1}} dg \right) z^n$$

$$+ \frac{z}{2\pi i} \int_{C_0}^{\infty} \frac{f(g)}{(g - z)g^n} dg$$
By Cauchy's integral theorem, since f
is analytic in and on Co and O is
interior to Co we have that

$$\frac{1}{2\pi i} \int_{C_0}^{\infty} \frac{f(g)}{g^{n+1}} dg = \frac{f^{(n)}(0)}{n!}$$

$$\frac{1}{2\pi i} \int_{C_0}^{\infty} \frac{f(g)}{(g - 0)^{n+1}} dg = \frac{f^{(n)}(0)}{n!}$$

Thus,

$$f(z) = \sum_{n=0}^{N-1} \frac{f^{(n)}(0)}{n!} z^{n} + P_{N}(z)$$
where

$$P_{N}(z) = \frac{z^{N}}{2\pi i} \int_{C_{0}} \frac{f(q)}{(g-z)g^{n}} dg$$
We will show that $P_{N}(z) \rightarrow 0$
as $N \rightarrow \infty$.
This will imply that

$$f(z) = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} z^{n}$$
which will complete the proof
of the $z_{0} = 0$ case.

Let's show
$$P_N(z| \rightarrow 0)$$
 as $N \rightarrow \infty$.
Let $\Gamma_z = |z|$.
If S is on
Co, then
 $|S-z| \geq |S|-|z||$
 $= |\Gamma_0 - \Gamma_z| = \Gamma_0 - \Gamma_z$
 $\Gamma_0 > \Gamma_z = \Gamma_0 - \Gamma_z$
 $\Gamma_0 > \Gamma_z = \Gamma_0 - \Gamma_z$
By the max-modulus theorem
from 4680 or from topology
(since f is continuous on the compact
Set Co)

there exists M70 where

$$|f(g)| \leq M$$
for all g on Co.
Thus,

$$|P_{N}(z)| = \left|\frac{z^{N}}{2\pi\lambda}\int_{C_{o}}\frac{f(g)}{(g-z)g^{N}}dg\right|$$

$$|II=I| = \frac{|Z|^{N}}{2\pi}\left|\int_{C_{o}}\frac{f(g)}{(g-z)g^{N}}dg\right|$$

$$|II=I| = \frac{|Z|^{N}}{2\pi}\left|\int_{C_{o}}\frac{f(g)}{(g-z)g^{N}}dg\right|$$

$$|Z|=r^{2}$$

$$|F(g)| \leq M$$

$$|I| = \frac{r^{N}}{r^{N}} \leq \frac{r^{N}}{2\pi} \cdot \frac{M}{(r_{o}-r_{z})r^{N}} \cdot \frac{2\pi r_{o}}{ardength}$$

$$|I| = r^{N} = \left(\frac{Mr_{o}}{r_{o}}\right)\left(\frac{r_{z}}{r_{o}}\right)^{N} \rightarrow 0$$

 $\left|\frac{f(g)}{(g-z)g^{N}}\right| \leq \frac{1}{(r_{o}-r_{z})r_{o}^{N}} \qquad (X \qquad N \rightarrow \infty)$

because $0 < \frac{\Gamma_2}{\Gamma_0} < 1$. $[hus, P_N(Z) \rightarrow 0 \quad as \quad N \rightarrow \infty$ $S_{n}, f(z) = \sum_{n=0}^{\infty} \frac{f(n)(0)}{n!} z^{n}.$

This concludes Zo=0 case. Now we prove the general Case.

arbitrary. Let Zo be Suppose f is analytic on

 $B_r = \{ z \mid | z - z_0 | < r \}$ Br Let $g(z) = f(z+z_0)$ (zo) Then g is D_r analytic un $D_r = \{z \mid |z| < r\}$ Thus by the previous case We know that $g(z) = \sum_{n=0}^{\infty} \frac{g^{(n)}(0)}{n!} z^n$ for all $z \in D_r$

Then $f(z+z_0) = g(z) = \sum_{n=0}^{\infty} \frac{g^{(n)}(0)}{n!} z^n$ $f(z) = f(z+z_0) = g(z) = \sum_{n=0}^{\infty} \frac{f^{(n)}(z_0)}{n!} z^n$ $\forall z \in D_r$

Plug Z-Zo in fur Z tu get that $g^{(n)}(z) = f^{(n)}(z + z_0)$ $g^{(n)}(o) = f^{(n)}(z_0)$ $f(z) = \sum_{n=1}^{\infty} \frac{f^{(n)}(z_0)}{n!} (z - z_0)^n \forall z \in B_r$